	Info					
is a tab for each tabs and the ce four categories. <b>Note 1:</b> Enter th	Use this workbook to calculate the burden of your information collection. There in of the four categories of the affected public. Enter your information in the four ills in this "Info and Totals" tab will auto-populate with subtotals and totals for all the Title, OMB Number, and Date Prepared.  Jumns will calculate automatically. Use only whole numbers.					
IDENT	IFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					
SECTION OF REGULATION						
(A)	(B)	(D)				
	SUBTOTAL - Private Sector					
	SUBTOTAL - Households and Individuals	98683				
	SUBTOTAL - State, Tribal, Local Government  SUBTOTAL - Federal Government					
	TOTAL ALL SHEETS	131576				

# **Collection Burden Worksheet**

TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NUMBER
Forest Products Removal Permits and Contracts	0596-0085

	REPORTING					RECORD KEEPING	3
	NO. OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL HOURS
l	RESPONSES PER	RESPONSES	PER	HOURS	RECORD	HOURS PER	RECORD KEEPING
	RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD KEEPER	(Col. I x J)
	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	6	52630	0.24	4210.4	19736.25	0.24	1578.9
	6	197366	0.24	15789.28	49341.5	0.24	3947.32
	6	13156	0.24	1052.48	3289	0.24	263.12
	0	0	0	0	0	0	0
	18	263152	0.72	21052.16	72366.75	0.72	5789.34

## DATE PREPARED

# 11/20/2025

RESPONDENT COST					
COST	TOTAL				
PER	COST				
HOUR	(Col. H x L)				
(L)	(M)				
97.98	\$137,511.66				
97.98	\$515,677.88				
97.98	\$34,374.00				
0	\$0.00				
293.94	\$687,563.55				

	IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT						
SECTION OF REGULATION	DESCRIPTION (For each entry, identify either Private Sector, Farm, or Not-For-Profit Institution)	FORM NO.					
(A)	(B)	(C)					
	Private Sector	FS-2400-1					
	Private Sector	FS-2400-4/FS- 2400-4ANF					
	Private Sector	FS-2400-8					
	SUBTOTAL PRIVATE SECTOR						

			RECORD KEEPING			
NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL
RESPONDENTS	RESPONSES PER	RESPONSES	PER	HOURS	RECORD-	HOURS PER
	RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-KEEPER
(D)	(E)	(F)	(G)	(H)	(I)	(J)
20050	2	40100	0.08	3208	15037.5	0.08
5012	2	10024	0.08	801.92	3759	0.08
1253	2	2506	0.08	200.48	939.75	0.08
0	0	0	0	0	0	0
0	0	0	0	0	0	0
0	0	0	0	0	0	0
26315	6	52630	0.24	4210.4	19736.25	0.24

•	RESPOND	ENT COST
TOTAL HOURS	COST	TOTAL
RECORD-KEEPING	PER	COST
(Col. I x J)	HOUR	(Col. H x L)
(K)	(L)	(M)
1203	32.66	\$104,773.28
300.72	32.66	\$26,190.71
75.18	32.66	\$6,547.68
0	0	\$0.00
0	0	\$0.00
0	0	\$0.00
1578.9	97.98	\$137,511.66

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT						
SECTION OF REGULATION	DESCRIPTION	FORM NO.				
(A)	(B)	(C)				
		FS-2400-1 FS-2400-4/FS- 2400-4ANF				
		FS-2400-8				
	SUBTOTAL HOUSEHOLDS AND INDIVIDUALS					

L							
	REPORTING					ı	RECORD KEEPING
	NO. OF NO OF TOTAL ANNUAL HOURS TOTAL					NO. OF	ANNUAL
	RESPONDENTS	RESPONSES PER	RESPONSES	PER	HOURS	RECORD-	HOURS PER
		RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-KEEPER
	(D)	(E)	(F)	(G)	(H)	(I)	(J)
	75187	2	150374	0.08	12029.92	37593.5	0.08
	18797	2	37594	0.08	3007.52	9398.5	0.08
	4699	2	9398	0.08	751.84	2349.5	0.08
	0	0	0	0	0	0	0
	0	0	0	0	0	0	0
	0	0	0	0	0	0	0
	98683	6	197366	0.24	15789.28	49341.5	0.24

•	RESPOND	ENT COST
TOTAL HOURS	COST	TOTAL
RECORD-KEEPING	PER	COST
(Col. I x J)	HOUR	(Col. H x L)
(K)	(L)	(M)
3007.48	32.66	\$392,897.19
751.88	32.66	\$98,225.60
187.96	32.66	\$24,555.09
0	0	\$0.00
0	0	\$0.00
0	0	\$0.00
3947.32	97.98	\$515,677.88

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT						
SECTION OF REGULATION	DESCRIPTION	FORM NO.				
(A)	(B)	(C)				
	Tribal	FS-2400-1				
	Tribal	FS-2400-4/FS- 2400-4ANF				
	Tribal	FS-2400-8				
	SUBTOTAL STATE, TRIBAL, LOCAL GOVERNMENT					

REPORTING						RECORD KEEPING
NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL
RESPONDENTS	RESPONSES PER	RESPONSES	PER	HOURS	RECORD-	HOURS PER
	RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-KEEPER
(D)	(E)	(F)	(G)	(H)	(1)	(J)
5012	2	10024	0.08	801.92	2506	0.08
1253	2	2506	0.08	200.48	626.5	0.08
313	2	626	0.08	50.08	156.5	0.08
0	0	0	0	0	0	0
0	0	0	0	0	0	0
0	0	0	0	0	0	0
6578	6	13156	0.24	1052.48	3289	0.24

•	RESPONDENT COST		
TOTAL HOURS	COST	TOTAL	
RECORD-KEEPING	PER	COST	
(Col. I x J)	HOUR	(Col. H x L)	
(K)	(L)	(M)	
200.48	32.66	\$26,190.71	
50.12	32.66	\$6,547.68	
12.52	32.66	\$1,635.61	
0	0	\$0.00	
0	0	\$0.00	
0	0	\$0.00	
263.12	97.98	\$34,374.00	

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			
SECTION OF REGULATION	DESCRIPTION	FORM NO.	
(A)	(B)	(C)	
	SUBTOTAL FEDERAL GOVERNMENT		

REPORTING				RECORD KEEPING		
NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL
RESPONDENTS	RESPONSES PER	RESPONSES	PER	HOURS	RECORD-	HOURS PER
	RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-KEEPER
(D)	(E)	(F)	(G)	(H)	(I)	(J)
				0	0	0
				0	0	0
				0	0	0
				0	0	0
				0	0	0
				0	0	0
				0	0	0

•	RESPONDENT COST		
TOTAL HOURS	COST	TOTAL	
RECORD-KEEPING	PER	COST	
(Col. I x J)	HOUR (Col. H x L		
(K)	(L)	(M)	
0	0	\$0.00	
0	0	\$0.00	
0	0	\$0.00	
0	0	\$0.00	
0	0	\$0.00	
0	0	\$0.00	
0	0	\$0.00	